s 2016 (S) Roll No:
‘ INTERMEDIATE PART-I (11" CLASS)
MATHEMATICS PAPER-I TIME ALLOWED: 2.30 Hours

SUBJECTIVE MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-1
2. Attempt any eight parts. 8x2=16
1 Prove < 4+ b =47 b by rules of addition.
c ¢ c

(i)  Simplify (0, 3).(0, 5)

(i)  Simplify '

(iv)  Write down power set of set { a, {5, ¢ 3

) Show that statement is a tautology (p A q¢ ) — p

(vi)  Define Semi-group.

;0
i) Ifd=|" | showthat 4* =7
1 —i 2

1
(vii) Find x and y if[x+3 1 }:[ 2 }

-3 3y-4 -3 2
2 3 -1
(ix)  Without expansion show that |1 I 0}=0
2 =3

x) Show that x* — j° =(x=y)(x - wy) (x - w’y)
(xi) If a, B aretheroots of 3x* -~ 2x + 4 =0 Find the value of o> — 2.

(xif)  Show that the roots of equation x? — 2( m+ 1 )x +3=0, m=#0 will be real.
m

3. Attempt any eight parts. 8x2=16
(1) Define Proper Rational Fraction with one example.

(ii) Find the next two terms of the sequence 1, 3, 7, 15, 31,

(iii)  Find the sum of geometric series % + i— + % +
(iv)  If 5 is harmonic mean between 2 and . Find 5.
vy If l, 1 and 1 are in A.P, show that b = 2ac

a b c a+c

(vi)  Pakistan and India play a cricket match. Find the probability that Pakistan will win.
(vii) How many necklaces can be made from 6 beads of different colours?

(viif) A die is rolled. Find the probability that the top shows dots less than 5.

(ix)  Find the number of diagonals of a 6 sided figure.

(x) Provethat1+2+4+ +2"" 1 =2"~1 istruefor n=1,2.
(xi)  State Binomial Theorem.

Wi

(xii) Expand (8 - 5x) up to two terms only.

P.T.O.




(2)
4. Attempt any nine parts. 9x2=18

1) Define the Angle.

(i)  Convert 120° into Radians and convert % into degree.

(i)  Show that Cos*8 - Sin*8 = Cos*8 - Sin*6

(iv)  Show that Cos( a + B) Cos(a — f) = Cos*a - Sin*p
v) Without using calculator and table find the value of Sin75°.
(vi)  Express as sum or difference 2Cos 586 Sin30

(vii)  Define the Period.

(viii) State the Law of Sines.

(ix)  Solve the right triangle 4BC , inwhich y =90°, a =37°20", a =243
(x)  Find the area of triangle 4BC a =32.65, b =42.81, c = 6492

(xi)  Find the value of Sin[ Cos™ %]

(xii) Solve the equation 1 + Cos = 0 if 8 ¢€[0, 27 ]

(xiii) Solve the equation Sec = -2 if @ e[O, 27[]

SECTION-II
NOTE: - Attempt any three questions. 3x10=30
a+tf a a
5(a) Showthat| a a+f¢ a |=£*(3a+10)
a a a+/{

(b) Solve the equation 4* - 3.2**% +128 =0

6.(a) Resolve 2x +1 into Partial Fractions.
(x=D(x+2)(x+3)

(b) Insert 7 A.Ms between 4 and 8.

7.(a) How many numbers greater than 1000,000 can be formed from the digits 0, 2, 2, 2, 3, 4, 4?

(b) Show that the middle term of (1 + x)*" is

8.(a) Find the values of all the trigonometric functions of l—zf-

(b) Prove that Sin(% - 9) Sin(% + 0) = %COSZ@

9.(a) Prove that in an equilateral triangle r: R:r :r, : 7, = 1:2:3:3:3

(b) Prove that sin™ 2, sin” - = cos™ 233
13 25 325
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Paper Code 2016 (S) Roll No:
Number: 6191 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(D) If a>0 then:-

A) 2a<0 (B)L<0 (©-a>0 (D) -a<0
a

(2) The number of subsets of a set having 3 elements is:- A)4 B 6 (©O8 (D 10
(3) A square matrix 4 = |_a 1 J with complex entries is called Skew Hermitian if (Z )’ is:-
(A) 4 B) -4 (©) | 4| (D) -| 4]
1
4) If [; 1] is singular matrix then x is equal to:- (A)Zero (B)I @B)2 (D)3
(5) Ifapolynomial f(x) isdivided by x ~ a, then the remainder is:-
1
(A) Zero B) f(a) ©€) -f(a) D)
f(a)
(6) Roots of equation x> — 5x + 6 = 0 are:-
(A) 2,3 (B) 2,-3 ) -2,-3 D) -2,3
N (x-1)?=x"-2x+1 iscalled:-
(A) Equation (B) Conditional (C) Identity (D) Fraction
@® Ifr=2 and a=9 then & equals- (A) 3 ®2 © - o2
3 r 27 3
) The 5™ term of sequence 3, 6, 12, is:- (A) :t% B)-48 (O —Zlg (D) 48
(10) The factorial form of 6.5.4 is:- (A) |6 B)6 ©) L6 D) i
, 3 2
11 “c, +'“C,, equals:- A “c, ®"c, ©*c, O"C,
(12) Index of (a + b)® is:- (A) 3 (B) 4 ©)s D) 6
1
(13) Expansionof (1+ x) * isvalid only if:-
(A) |x|>1 ®B) |x| <1 ©) |x|<-1 D) | x| > -1
(14) If Sin@ <0 and Cotf >0 then @ liesin quadrant.
(A) lst (B) 2nd (C) 3rd (D) 4th
(15) tan( % - a) is equal to:- (A) Cota (B) Tana (C) —Cosa (D) —Sina
(16) is period of Sin%. (A) 4x B) 27 (O (D) 12[-
(17)  For any triangle ABC, with usual notations r, is equal to:-
A A A A
A) B) — C) — D) —
s—-a s—-c s—b s
(18)  With usual notations, R is equal to:-
abc abc A 4A
‘ A) — B) — C)y — D) —
()41_\ (.)A ()abc ()abc
(19) Sin(Sin" %) is equal to:- (A) —% (B) % (€) % (D) é-
(20)  The solution of equation —l—tanx =1, where xe[0, 7] is:-

V3

wi{zh ez ol

RY/4
(D) { T}

13(Obj)(T€)-2016(S)-1500 (MULTAN)




Paper Code 2016 (S) ‘Roll No:
Number: 6193 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cautting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) ___isperiod of Sin%. @ 4r ®B)2r )z (D) 32’—
(2) For any triangle ABC, with usual notations r, is equal to:-
3 A A A A
(A) (B) (D) —
s—a s—c¢ s—b s
3) With usual notations, R is equal to:-
) abe abc A 4A
— B) — C) — D) —
4A ()A ()abc ()abc
1 1 /4 T 1
4 Sin| Sin™ = | is equal to:- : A) —— B) — C) — ‘—
@) ("2) q w-; ®F ©f @
5) The solution of equation —\/%tanx =1, where xe [ 0, rr] is:-
T r T ' 3n
A — — ORI D) ¢ —
wizh @5 offf ofY
1 :
(6) If a>0 then:- (A) 2a<0 B)—<0 (C)-a>0 —a<0
a
N The number of subsets of a set having 3 elements is:- A) 4 (B) 6 @ 8 (D) 10

(8) A square matrix 4 = la, j J with complex entries is called Skew Hermitian if (2 )' is:-

@ y ® -4 ©) | 4| (D) -| 4

1
) If { )IC 1] is singular matrix then x is equal to:- (A) Zero l B2 D3

(10)  Ifapolynomial f(x) isdivided by x — a, then the remainder is:-

i 1
(A) Zero ®) s © - F(a) ©)
f(a)
(I1)  Roots of equation x* — Sx + 6 = 0 are:-
@2,3 (B) 2, -3 (€) -2, ~3 (D) -2,3
(12) (x-1)’ =x* —=2x +1 iscalled:-
(A) Equation (B) Conditional @Identity (D) Fraction
1 a 1 26
13) If r== and a=9 then — Is:- A)3 27 C) —- D) —
(13) r=7 and a en — equals (A) ()27 ()3
1 1
14)  The 5" term of sequence 3, 6, 12, is:- A) —— B) -48 ) —— 48
(14) g s W ® ©-z @
. . 6 L6
15)  The factorial form of 6.5.4 is:- A) |6 B)6 L D) =
( @i ® @Lz © 5
(16) “C, + “C, equals:- ) *c, ®)"C, (© “C, e
(17) Index of (a +b)° is:- (A) 3 (B) 4 @5 (D) 6
1
(18) Expansionof (1+ x) * is valid only if:-
(A) |x|>1 @) x| <1 ©) |x|<-1 D) |x|> -1
(19) If Sin6 <0 and Cor@ >0 then @ lies in quadrant.
(A) lsl (B) 2nd @ 3rd (D) 4th
(20) tan(-’—zr- - a] is equal to:- Cota (B) Tana (C)-Cosa (D) -Sina
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Paper Code 2016 (S) . Roll No:
Number: 6195 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
(1 wcn + mCm equals:- (A) 16C12 ®) " G, (© 16C13 D) 17Cn
(2) Indexof (a+b)° is:- (A) 3 B) 4 (OF D) 6
1
(3)  Expansionof (1+ x) * is valid only ifi-
(A) |x|>1 B) x| <1 © |x]<-1 D) | x| > -1
4) If Sin@ <0 and Cotf >0 then @ lies in quadrant.
Aa)1* (B) 2 (©) 3" (D) 4"
&) tan(—zﬂ— - a] is equal to:- (A) Cota (B) Tana (C) —~Cosa (D) —Sina
(6) is period of Sin%. (A) 47 B)2z Oz (D) 325
(7)  For any triangle 4BC, with usual notations r, is equal to:-
A A A ' A
(A) — (B) ©) (D) —
s—a s —c s—=b s
(8) With usual notations, R is equal to:-
abc abc A 4A
A) — B) — C) — D) —
()4A ()A ()abc ()abc
1
9) Sin( Sin™ %) is equal to:- (A) -—;- (B) -’35 (©) 365 (©) 5
(10)  The solution of equation —\71.—3—tanx =1, where x e [ 0, 7r] is:-
/4 4 T 3z
A) { — B) { — C) < — D) —
oz s ol ey
(11) If a>0 then:- (A) 2a<0 (B)l<0 ) -a>0 (D)-a<0
a
(12)  The number of subsets of a set having 3 elements is:- A4 @B6 ()8 (D 10
(13) A square matrix 4 = l_a 1 J with complex entries is called Skew Hermitian if (74 )’ is:-
(A) 4 (B) -4 (©) | 4] D) -| 4|
1
(14 If [ ch 1} is singular matrix then x is equal to:- (A)Zero (B)1 B2 D)3
(15)  Ifapolynomial f(x) isdivided by x — a, then the remainder is:-
1
(A) Zero B) f(a) ©€) - f(a) D) ——
f(a)
(16)  Roots of equation x* — 5x + 6 = 0 are:-
(A) 2,3 B) 2, -3 (C)-2,-3 D) -2,3
17 (x-1?*=x* -2x+1 iscalled:-
(A) Equation (B) Conditional (C) Identity (D) Fraction
1 26
(18) If r =—;— and a=9 then 2 equals:- (A3 (B) 27 © 7 (D) 3
r
(19)  The 5" term of sequence 3, 6, 12, is:- (A) 215 (B)-48 (O ——41—8— (D) 48
6
(20)  The factorial form of 6.5.4 is:- (A) |6 B)6 ©) ﬁ (D) L6

13 (2
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Paper Code 2016 (S) Roll No:
Number: 6197 INTERMEDIATE PART-I (11*" CLASS)

MATHEMATICS PAPER-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
(1)  Roots of equation x* — Sx + 6 =0 are:-
(A) 2,3 (B) 2,-3 (C)-2,-3 D) -2,3
() (x-1) =x"~-2x+1 iscalled:-
(A) Equation (B) Conditional (C) Identity (D) Fraction
3) Ifr=2 and a=9 then & equals:- (A) 3 ®27 © -~ o2
3 r 27 3
4 The 5™ term of sequence 3, 6, 12, is:- (A) 4i8 (B) -48 (O —Zlg (D) 48
(5)  The factorial form of 6.5.4 is:- (A) |6 B)6 (&) £ D) L6
3 12
(6) I6C|1 + wclo equals:- (A) ]6C12 ®) " G, © 16Cls D) l-,Cn
@) Index of (a +b)’° is:- (A) 3 (B) 4 ©s D) 6
1
(8) Expansionof (1+ x) * is valid only if:-
(A) |x|>1 B) |x| <1 ©)]x|<-1 D) |x|> -1
¢ If Sin@ <0 and Cot@ >0 then @ lies in quadrant.
(A) 15[ (B) 2l‘ld (C) 3rd (D) 4th
(10) tan(g— - a) is equal to:- (A) Cotae (B) Tana (C) -Cosa (D) - Sina
(11) is period of Singn (A) 47 ®)2r Oz (D) g‘"
(12)  For any triangle ABC, with usual notations r, is equal to:-
A A A A
(A) (B) © D) —
s—a s—c s—-b s
(13)  With usual notations, R is equal to:- ;
abc abc A 4A
A) — B) — C) — D) —-
()4A ()A ()abc ()'abc
(14) Sin( Sin™ %) is equal to:- (A) —-;- (B) —;5 (©) —E— (D) %
(15)  The solution of equation —j_gtanx =1, where xe|0, z] is:-
T T /4 3z
A) ¢ = B){ — )< — D)« —
w { £} ® |z} ©{z} o {3}
(16) If a>0 then:- (A) 2a<0 (B)—1—<O €)-a>0 D)-a<0
a
(17)  The number of subsets of a set having 3 elements is:- A4 @B6 (©8 D10
(18) A square matrix 4 = la i; ] with complex entries is called Skew Hermitian if (Z )’ is:-
(A) 4 (B) -4 ©) | 4| (D) -| 4]
1
(19 If [T 1:’ is singular matrix then x is equal to:- (A)Zero (B)I (B)2 (D)3
(20) Ifapolynomial f(x) isdivided by x — a, then the remainder is:-
1
(A) Zero B) f(a) (€) - f(a) D)
f(a)
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